xy o 4 P,Qoll tisl P+ QE A4tstd, &2 e+ (Q)
o], A49] T2 (©) °lth. @, ©° O*El% —‘%i}i'ﬂi% Mzt

P = 5x%y + 2y? + 223
Q = x% - 3y% + 2xy?




2. A oA A =2x2y —x2 +33, B = =202 + 2y3.C = x3 +y3 9]
tistel (24 - B) + €& Axtsta?

@ 2x% - dxy + 3y° @ -x3 +2x2y —y?
@ 2x° +4x%y - y° @ x3 4+ 4x%y+y3

® x3+4y3



ohg S410] xol Te G5 Aol HES A% a,b,c o] L Totolet,

ax?—x+c-3=2x2-bx-2

0 ©O
I I
S 2
Il |

v
L
9}

[



4. (x+1)° = ap + a1 x +asx® + azx® +asx* + asx® ©] xof thgt F5A4d
W, ag + a1 + az + az + ag + a5 9] F= FSHH?

@D 8 @ 16 ® 32 @ 64 ® 128



5. xol @ hahal - 22— prt 27} 1 - 22 Lol Hol AR A4
PEREE B

D 1 -1 3 2 @ -2 B 3



X 4+x2-8x-12E ¢l

oratr o X109
=2 A1+ 1.

D (x+2)2
@ (x-3)?



7. (1252 = 75%) = (5 + (30 — 50) + (—4)} 9] 27

D 75 ® 125 3 900 @ 1000 B 1225



)

= a® + 2ab + b?

@ (a+b)?

=a? - 2ab + b?

@ (a-b)?

a? - b?

® (a+b)(a-D)

@ (a-b)(a®+ab+b*) =a® - b?

® (a+b)(a®—-ab+b?) =a®+b>



9. xof WSt

A X mx? 4 nx+12 x+12 UH Yz 7F 50] 1
x— 22 YA Yrojdoj At stet, o] W, —3(m + n) 2] FH27

@D 4 @ 8 ® 12 @ 14 ® 18



10.

3 4 = (4 x 200 +ax+b) L WL AE ab
Fatetet.

s
ct

9

ar
H

fijo



